AR 3 (—MRERFEALL)

SM6EE ILEHMEEE A&ITFE 2K

STEXHEETAEYSE
Wi ZEMEEER nE

FTMIE3IANA

IE4 TETi5FT THEER IEHE ARLAK
BEMERETE %g§§§1m$i$*§ﬁ$%mﬁﬂ16@%**100& +tA—HTSE HEHBETE 1=353m ﬁ?@é?%{%%ilﬂﬁj
FEME Btk E) A REEME (FikE) ZHEFEAB ZHEFAOESXITLFH R UER
27,118, 000/ 24,397,360M| = fM6E5A178 |[UEEFMLUNHERGEL-43 SHESRKEASH
LHEEE Bk E) IEEFORH IEEADEH
25,200,000 | <#N6£5A SHTE1H

O ZHNEENEEZH SRNDEEZT o156 (F—REH)

- REROZHIERE Bk E)

- REEMNEAR SMIFE1A 4R
- KEIER ERBEICEENEL1=0,
- EERDODIETHROFH [ITEIR

O AIRFTFE DR
FER 80 =

26, 800, 000




